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Note:(a) All questions are compulsory. (:3\)
{b) Marks are indicated against each question in square brackets. ﬁ b)
(c} The candidate is allowed to make suitable numeric assumptions wher equired for
solving problems. \
(d)} Use of scientific calculator is allowed, QQ)
PR
1. Suppose birthweight (0z), and age (days) are measured for 8 mf/%}&s and the data are as
shown in the following table: Q ;
: : A,
Birthweight (oz), X | 135 [ 120 [ 100 | 105 | 130 1251 1% [ 105

Age (days), Y 3 4 3 2 4 5 W2 3

(a) Find the Karl Pearson’s coefficient of corra@tween birthweight and age.

{(b) Interpret your result. [3 Marks+1 Mark| (CO-1)
2. (a) Prove that geometric mean of the regrezg?%rn coefficients is the coefficient of correla-
tion.
(b) Prove that arithmetic mean of tHe re%?ession coeflicients is greater than the coefficient
of correlation. /f"**‘%%
(¢} Write the formula for calcdl%i}‘lg’ the coefficient of correlation for repetitive ordinal
data. 0.5 Mark +1 Mark-+0.5 Mark] {CO-1)

on an experiment to ing8stigate how the behavior of mozzarella cheese varied with tem-

perature. Consider th& acc8mpanying data on Temperature, X and elongation (%), Y at

failure of the chee&}QénH a polynomial of second degree using the method of least squares.
09

3. The article " Objective";\}/[é@l;e}ﬁent of the Stretchability of Mozzarella Cheese”, reported

Temperatur 63 | 68 | 72
elongation %) Y/T 118 | 182 | 247 | 208
4. (a) Wﬂ%"logisﬁc function, explaining the meaning of each of its component,

(b) Mentith two major disadvantages of logistic regression.
'{\\ y [1 Mark +1 Mark] (C0-1)

5. Consider the credit card scenario with A = {Visa}, B = {MasterCard), P(A) =05,P(B) =
0.4, P{AN B} = 0.25. Calculate and interpret each of the following probabilities:

(a) P(B|A)

(b) P(A|B)

(¢) P(BiA) [1Mark+1 Mark+2 Marks| (CO-2)

(3 Marks] (CO-1)
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